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D–3703 

 B. Sc. (Part III) EXAMINATION, 2020 

MATHEMATICS 

(Optional) 

Paper Third (D) 

(Programming in C and Numerical Analysis) 

Time : Three Hours ]  [ Maximum Marks : 30 

uksV % dqy ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 
vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt five questions in all. One question from each 
Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 
(UNIT—1) 

1- vjs D;k gS \ vjs ds izdkjksa dks mnkgj.k lfgr le>kb,A 

What is array ? Explain the types of array with example. 

2- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) For loop statement 

(ii) Switch case statement 

Write short notes on the following : 

(i) For loop statement 

(ii) Switch case statement 
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bdkbZ&2 
(UNIT—2) 

3- ckbZ&lsD’ku esFkM dks mnkgj.k lfgr le>kb,A 

Explain Bisection Method with example. 

4- nh xbZ rkfydk ls U;wVu fMokbMsM fMQjsal QkWewZyk dk mi;ksx djrs 
gq, (9)f  dk eku Kkr dhft, % 

x f (x) 

5 

7 

11 

13 

17 

150 

392 

1452 

2366 

5202 

Using Newton’s divided difference formula evaluate (9)f

from the given table : 

x f (x) 

5 

7 

11 

13 

17 

150 

392 

1452 

2366 

5202 

bdkbZ&3 
(UNIT—3) 

5- fjysD’kslu fof/k dk mi;ksx djrs gq, fn;s x;s lehdj.kksa dks gy 
dhft, % 

9 2 50x y z     

 5 3 18x y z     

2 2 7 19x y z    . 
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Solve the given equations by Relaxation method : 

9 2 50x y z     

 5 3 18x y z     

2 2 7 19x y z    . 

6- gkmlgksYMj fof/k dk mi;ksx djrs gq, fn;s x;s vkO;wg A dks VªkbZ& 

Mk;xksuy vkO;wg easa ifjofrZr dhft, % 

4 1 2 2

1 4 1 2

2 1 4 1

2 2 1 4

  
    
   
 

  

  

Use the Householder’s method to reduce the given matrix A 
into the tridiagonal form : 

4 1 2 2

1 4 1 2

2 1 4 1

2 2 1 4

  
    
   
   

 

bdkbZ&4 
(UNIT—4) 

7- #axs&dqêk prqFkZ ?kkr fof/k ls y dk vuqekfur Kkr dhft, tcfd 

0.2.x    

 fn;k gS % 2 2 2 2( ) / ( )
dy

y x y x
dx

    vkSj 1y   tc 0x  A 

Apply Runge-Kutta method of fourth order to solve  

2 2 2 2( ) / ( )
dy

y x y x
dx

    with ( 0 ) 1y  at 0.2x  . 
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8- fn;s x;s fofoDr vk¡dM+ksa ds fy, f}rh; dksfV dk fuEu oxZ lfédV 

eku Kkr dhft, % 

x f (x) 

– 2 

–1 

0 

1 

2 

15 

1 

1 

3 

19 

Fid the least squares approximation of second degree for the 
discrete data : 

x f (x) 

– 2 

–1 

0 

1 

2 

15 

1 

1 

3 

19 

bdkbZ&5 
(UNIT—5) 

9- js.Me uEcj tujs’ku ds fy, dkbZ&LDok;j xqMusl&vkWQ fQV VsLV ij 

,d laf{kIr fVIIk.kh fyf[k,A 

Write a short note on Chi-square Goodness-of-fit test for 
Random Number Generation. 

10- tujs’ku vkWQ ckbukWfevy oSfj,V~l ij ,d laf{kIr fVIi.kh fyf[k,A 

Write a short note on Generation of Binomial Variates. 
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